
 

 

Hoja 2.4                                    Matemáticas 3º ESO                                      © FerMates 
Soluciones (versión β, puede contener errores) 
 1.-  
 a)   (x + y2)2 = x2 +  2xy2 + y4 
 b)   (x – 3)2 = x2 – 6x + 9 
 c)   ( x + 4)2 = x2 + 8x + 16 
 d)   (2x – 1)2 = 4x2 – 4x +1  
 e)   (2x + x2)2 = 4x2 + 4x3 + x4 
 
2.-  
 a)  3x(x – 5)2    d)  (x – 1)(x + 5)  
 b)  6(x – 2)2    e)  x (x + 2)(x + 3) 
 c)  5(x + 3)(x – 3)   f)  4 (x2 + 2y3)(x2 – 2y3)    
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4.-   
 a)   P(– 1) = 2;  P (-1/2) = 15/8  d)  P(– 1) = 0;  P (-1/2) = – 1/2 
 b)  P(– 1) = 6;  P (-1/2) = 11/4  e)  P(– 1) = – 7 ;  P (-1/2) = –17/4 
 c)  P(– 1) = – 1 ;  P (-1/2) = 1/4 
  
5.-  
 a)   2x3 – x  
 b)   2x3 – 4x2 + 2/3 
 c)   – x3 – 2x2   
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7.- Dados los polinomios: 
 
 a)  145 234 ++−− xxxx  
 b)  xxxxx 3242 2345 ++−−  
 c)  24623 2345 +−+−+ xxxxx  
 d)  xxxx 9124 245 −+−  
 
 


